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30 fps 1392 1040
6.45 6.45 m

50.8 50.8 83.5mm
140g



72 26 mm

1 200 mw 635
1550nm
19 mm
72 100mm 659

p 0.1 kgf
100mm M

p 12_ 010 10

M= 2

=0.5 kgf cm

2.7 kgf.cm
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40 mm

50 mm



ext =40 mm

ext =50 mm

40 50mm

80 mm



150 mm

130 mm

Anel de

0.02mm



0.50 mm

F=60 N

0q=166,7 N/m

v

_@ u OO0 u o M,=9 N.m

©
166, 7N=m
F=60N M1 =9 Nm
300 mm 6 kg
My = 9 Nm
4 7 mm
2.70 g=cm?® 70 GPa

310MPa

3.96

0.50 mm



URES (m)
1.728e-004
1.582e-004

| 1.438e-004
1.2848-004
1.151e-004

1.007e-004

815308:005
74536005
| 5753005

4.315e-008

2877e-005

1.4388-005

Wleo: 1.726e-004 1.000e-033

0.17 mm

13229

10 mm

2.66 g=cm?3 71 GPa
145 MPa

1.14g=cm®
3.25GPa 76 MPa



URES (m)
4.7848-004
I 4.386e-004
3.967e-004
3.555e-004
31908-004
2791e-004
23926004
1.993¢-004
1.595¢-004
1.196e-004
79742005
3.9678-005

1.000e-033
[Max: 47648004

2.71
0.48 mm

0.5mm

mm




0.94 g=cm?®






200 mm 120 mm 2.6 kof

30
180 1000mm

345mm Im 340 mm









2.0



3.6V

55V
5V
12V
50 Hz
2 44 kHz
0 6.45m 0.15
6.45m 2.54cm
25 55V
50 W 40 C
70 C
40 C
m
Q 50 .
- - = 0.099 kg=
M= S (Tow Tm) 1007(70 40) g=min
Co 55 C

70 C



245 33V

\L
P 101.325

= — = = =m3
RT ~ 0287 (70+275)  -023ko=m
_m_ 0.099 .
L= == 1023 0.097 m°=min
3.5CFM = 0.099 m3=min
10 80 cm

12 24V
5 33V

25 25 10mm



5V

25 55V

Ri

mA

1.5A
19V
S5V
30V 3A
5 3.3V
5V
3.3V
Vsen 55V
Viic 36V
1k
Vsen Vp|C 55 3 6
R, =R =1000 527.8
27 T Ve 3.62
527.8

560



64 78 mm? 48 58 mm?







































